mr_pse_enable =
disable

DISABLED

alt_pwrd_pri < FALSE
alt_pwrd_sec < FALSE
sism < FALSE

(mr_pse_enable = enable) *
(pse_reset +iclass_lim_det +
error_condition)

(mr_pse_enable = force_power) *
lerror_condition *

I(ovid_det_pri + short_det_pri) *
I(ovld_det_sec + short_det_sec)

v

TEST_MODE

L

IDLE

mr_pse_enable =
enable

ISSUE #5

((CC_DET_SEQ=0) +
(CC_DET_SEQ=3))*
(mr_pse_alternative = both) *
pse_ready *

I(pwr_app_pri + pwr_app_sec) *
(mr_pse_enable = enable)

alt_pwrd_pri < FALSE
alt_pwrd_sec < FALSE
mr_valid_sig_pri < FALSE
mr_valid_sig_sec < FALSE
sig_type < open_circ
det_temp < both_neither
pse_dll_enabled <= FALSE
sism < FALSE
iclass_lim_det < FALSE
IF (mr_pse_alternative # both) THEN
alt_pri <= mr_pse_alternative
ELSE
IF(pingpong_en) THEN
IF(alt_pri=a) THEN
alt_pri<b
ELSE
alt_pri<=a
END
END
END

END

END

sism < FALSE

alt_pri<=a

IF (mr_force_pwr_pri) THEN
alt_pwrd_pri < TRUE

IF (mr_force_pwr_sec) THEN
alt_pwrd_sec < TRUE

(mr_pse_enable = force_power)

* (ovid_det_pri + short_det_pri)

—

TEST_ERROR_PRI
alt_pwrd_pri < FALSE

(mr_pse_enable =
force_power) *
(ovid_det_sec +
short_det_sec)

B

START_CXN_CHK

((CC_DET SEQ=1) +

do_cxn_chk

(mr_pse_alternative = a) +
(mr_pse_alternative = b)) *
pse_ready *

do_cxn_chk_done

A

I(pwr_app_pri + pwr_app_sec) *
(mr_pse_enable = enable)

CXN_CHK_EVAL

IF (CC_DET_SEQ =0) +

(CC_DET_SEQ = 3) THEN
start tcc2det_timer

END

A

mr_pse_enable =
enable >
(mr_pse_enable = force_power)
* (ovid_det _sec +
short_det_sec)

v

TEST_ERROR_SEC

alt_pwrd_sec < FALSE

mr_pse_enable =
enable

(mr_pse_enable =
force_power) *
(ovid_det_pri +
short_det_pri)

A 4

TEST_ERROR_BOTH

alt_pwrd_pri <= FALSE
alt_pwrd_sec < FALSE

mr_pse_enable =
enable

mr_pse_enable =
enable

(CC_DET_SEQ=2) *
(mr_pse_alternative = both) *

A 4

START_DETECT

start tdet_timer

(sig_type = single) *
((CC_DET_SEQ =0) +
(CC_DET_SEQ =3))*
ltcc2det_timer_done +
(CC_DET_SEQ=1)*
(sig_pri = valid) *
ltdet2det_timer_done)

do_detect_pri

ELSE
do_detect_sec

END
ELSE
do_detect_pri

(sig_type =dual) *

(((CC_DET_SEQ =0) +
(CC_DET_SEQ =3))*
ltcc2det_timer_done +
(CC_DET_SEQ=1)*
ltdet2det_timer_done)

END

IF (mr_pse_alternative = both) THEN
IF (det_temp = both_neither) THEN

det_temp <= only_one

det_temp <= both_neither

pse_ready *

I(pwr_app_pri + pwr_app_sec) *
(mr_pse_enable = enable)

.
2

ISSUE #5

START_CXN_CHK_DETECT

start tdet_timer
do_cxn_chk
do_detect_pri
do_detect_sec

A

SISM_START

sism < TRUE

(sig_type = open_circ) +
tcc2det_timer_done +
tdet2det_timer_done

alt_done_pri *
alt_done_sec

tdet_timer_done

G

tdet_timer_done

do_cxn_chk_done *
do_detect_pri_done *
do_detect_sec_done *
ltdet_timer_done

(do_detect_pri_done * (det_temp = only_one) +
do_detect_sec_done + (mr_pse_alternative # both) *
Udo_detect_pn‘_done) * ltdet_timer_done

D




DETECT_EVAL

ELSE

END

IF (det_temp = only_one) THEN
start tdet2det_timer

start tpon_timer

(mr_pse_alternative = b) *
(sig_pri = invalid)v

BACKOFF
start tdbo_timer

tdbo_timer_done

»
>

CXN_CHK_DETECT EVAL

IF (sig_type = single) * (sig_pri = valid) *
(sig_sec = valid) THEN

start tpon_timer
END

((mr_pse_alternative # both) * (sig_pri = valid)) +
((det_temp = both_neither) * (sig_sec = valid))

(sig_type = single) *
(sig_pri = valid) *
(sig_sec = valid)

A

(A1)

(mr_pse_alterantive = both) *
(CC_DET_SEQ =1) * (sig_pri = valid)
(det_temp = only_one) *

©

(mr_pse_alternative = both) * (
((CC_DET_SEQ=0) +
(CC_DET_SEQ=23))*
(det_temp = only_one) *
(sig_pri = valid) *
U!tdetZdet_timer_done)

C

(mr_pse_alternative = both) *

((det_temp = only_one) * (sig_pri # valid) + (det_temp = both_neither) * (sig_sec # valid) +
(((CC_DET_SEQ =0) + (CC_DET_SEQ = 3)) * (det_temp = only_one) *

tdet2det_timer_done)) +
(mr_pse_alternative # both) * (sig_pri # valid)

(sig_type = dual) *
((sig_pri = valid) +
(sig_sec = valid))

G

(sig_type = open_circ) +
(sig_type =single) *
((sig_pri = invalid) +

(sig_sec = invalid)) +
(sig_type = dual) *
(sig_pri = invalid) *
(sig_sec = invalid)

ISSUE #6




CLASS_EVAL

ISSUE #1

((pd_reg_pwr < pse_avail_pwr) + (pse_avail_pwr > 2)) *
ted_timer_done

A 4

((pd_req_pwr > pse_avail_pwr) *

POWER_UP

IF (mr_pse_alternative = both) * (mr_pse_ss_mode = 1) +
(pd_allocated_pwr > 4) THEN
alt_pwrd_pri <= TRUE
alt_pwrd_sec < TRUE
ELSE
alt_pwrd_pri < TRUE
END

(pse_avail_pwr < 3)) + Ited_timer_done

tpon_timer_done

((mr_pse_alternative # both) * tinrush_timer_pri_done * pwr_app_pri +
(sig_type = single) * tinrush_timer_pri_done * pwr_app_pri * tinrush_timer_sec_done
* pwr_app_sec) * ltpon_timer_done

Y

POWER_ON

pse_dll_capable *
Ipse_dll_enabled

(mr_pse_alternative # both) *
tinrush_timer_pri_done *
(‘pwr_app_pri +

(IPm»ZP-pn' 2 IInrush-ZP)) +
(sig_type = single) *
(tinrush_timer_pri_done *
(‘pwr_app_pri +

(IPort»ZP-pn‘ 2 IInrush-ZP)) +
tinrush_timer_sec_done *
('pwr_app_sec +
(lpart2p-sec = linrush-2p)))

alt_pwrd_pri < TRUE
alt_pwrd_sec < TRUE
ELSE
alt_pwrd_pri < TRUE
alt_pwrd_sec < FALSE
END
END

IF (mr_pse_alternative = both) THEN
IF (dll_4PID + (pd_allocated pwr > 4) +
(mr_pse_ss_mode = 1)) THEN

L

DLL_ENABLE

ucCt

pse_dll_enabled < TRUE

* semi_pwr_en

(short_det_pri + ovid_det_pri + option_vport_lim_pri)

Isemi_pwr_en *
(short_det_pri +
short_det_sec +
ovld_det_pri +
ovid_det_sec +
option_vport_lim_pri +
option_vport_lim_sec)

vy

ERROR_DELAY

start ted_timer
alt_pwrd_pri <= FALSE
alt_pwrd_sec < FALSE

ted_timer_done +
option_detect_ted
tmpdo_timer_done * !short_det_pri *
lovid_det_pri * loption_vport_lim_pri *
Ishort_det_sec * lovid_det_sec *
loption_vport_lim_sec *
power_available

.

(short_det_sec + ovid_det_sec +
option_vport_lim_sec) * semi_pwr_en

y

SEMI_PWRON_PRI

SEMI_PWRON_SEC

alt_pwrd_sec < FALSE

alt_pwrd_pri < FALSE

short_det_pri +
ovid_det_pri +
option_vport_lim_pri

short_det_sec +
ovid_det_sec +
option_vport_lim_sec

(tmpdo_timer_done *
Ishort_det_pri * lovid_det_pri *
loption_vport_lim_pri) +
Ipower_available

Ipower_available *
Ishort_det_pri * Ishort_det_sec *
lovid_det_pri * lovid_det_sec *
loption_vport_lim_pri *
loption_vport lim_sec

(tmpdo_timer_done *
Ishort_det_sec * lovld_det_sec *
loption_vport_lim_sec) +
Ipower_available

v ‘

POWER_DENIED

uct

Y
A




iclass_lim_det_pri

IDLE_PRI

alt_pwrd_pri < FALSE
det_start pri <= FALSE
iclass_lim_det pri <= FALSE

lalt_pwrd_sec * !det_start_sec

A 4

WAIT_PRI

alt_done_pri < TRUE

sism = FALSE

ENTRY_PRI

pd_cls_4PID_pri < FALSE

alt_done_pri < FALSE

IF (CC_DET_SEQ# 2) THEN
sig_pri < invalid

END

iclass_lim_det_pri < FALSE

START_DETECT_PRI

start tdet_timer_pri
do_detect_pri
det_start pri < TRUE

tdet_timer_pri_done

do_detect_pri_done *
ltdet_timer_pri_done

Ipwr_app_pri *
pwr_app_sec
sism = TRUE *
CC_DET_SEQ#2
A A

sism = TRUE *
CC_DET SEQ=2

A A

DETECT_EVAL_PRI

start tpon_timer_pri

(sig_pri # valid)

(a2)

(sig_pri = valid)




(pd_reg_pwr_pri < pse_avail_pwr_pri) *
ted_timer_pri_done * (PD_4pair_cand + !alt_pwrd_sec)

CLASS_EVAL_PRI

IF (pd_cls_4PID_pri * (sig_pri = valid) * (sig_sec = valid + pwr_app_sec)) THEN

PD_4pair_cand_pri < TRUE
ELSE

PD_4pair_cand_pri < FALSE
END

POWER_UP_PRI

alt_pwrd_pri < TRUE
det_start pri < FALSE

tpon_timer_pri_done

tinrush_timer_pri_done *

pwr_app_pri *
Itpon_timer_pri_done

tinrush_timer_pri_done *
('pwr_app_pri +

IInrush-ZP))

2

(IPort»ZPipri

lted_timer_pri_done

(pd_req_pwr_pri > pse_avail_pwr_pri) +
('PD_4pair_cand * alt_pwrd_sec) +

pse_dll_capable *
Ipse_dll_enabled

POWER_ON_PRI

A 4 A

short_det_pri + ovid_det _pri +
option_vport_lim

ERROR_DELAY_PRI

start ted_timer_pri
alt_pwrd_pri <= FALSE

ted_timer_pri_done +
option_detect_ted_pri

tmpdo_timer_pri_done *
Ishort_det_pri * lovid_det_pri *
Ipower_not_available_pri *
loption_vport_lim

|-
>

A

h 4 \ 4
DLL_ENABLE
pse_dll_enabled < TRUE
UCT
power_not_available_pri * Ishort_det_pri *
lovid_det_pri * loption_vport_lim
h 4 h 4

POWER_DENIED_PRI

uct

U




iclass_lim_det_sec

A

IDLE_SEC

-

alt_pwrd_sec < FALSE
det_start sec < FALSE
iclass_lim_det_sec < FALSE

sism = TRUE *

sism = FALSE

{

ENTRY_SEC

CC_DET SEQ=3

lalt_pwrd_pri * det_start_pri

pwr_app_pri

A

WAIT_SEC

alt_done_sec < TRUE

Ipwr_app_sec *

(('class_4PID_mult_events_sec * pwr_app_pri) +
class_4PID_mult_events_sec ) * sism = TRUE *
(CC_DET_SEQ =0+ CC DET SEQ =1)

pd_cls 4PID_sec < FALSE

alt_done_sec < FALSE

IF (CC_DET_SEQ # 2) THEN
sig_sec <« invalid

END

iclass_lim_det_sec < FALSE

A A

START_DETECT_SEC

start tdet_timer_sec
do_detect_sec
det_start sec < TRUE

tdet_timer_sec_done

do_detect_sec_done *
ltdet_timer_sec_done

sism = TRUE *
CC DET SEQ=2

A A

DETECT_EVAL_SEC

start tpon_timer_sec

(sig_sec #valid)

(a3

(sig_sec = valid)




CLASS EVAL_SEC

PD_4pair_cand_sec < TRUE
ELSE

PD_4pair_cand_sec < FALSE
END

IF (pd_cls_4PID_sec * (sig_sec = valid) * (sig_pri = valid) + pwr_app_pri) THEN

(pd_req_pwr_sec <pse_avail_pwr_sec) * ted_timer_sec_done
* (PD_4pair_cand + (sig_pri # valid))

(pd_req_pwr_sec > pse_avail_pwr_sec) +
('PD_4pair_cand * alt_pwrd_pri) +
lted_timer_sec_done

A
POWER_UP_SEC
alt_pwrd_sec < TRUE
det_start_sec < FALSE
tpon_timer_sec_done tinrush_timer_sec_done *

pwr_app_sec *
Itpon_timer_sec_done

tinrush_timer_sec_done *
('pwr_app_sec +
(IPUI—ZP_seC 2 Ilnrush—ZP))

pse_dll_capable *
Ipse_dIl_enabled

A 4

POWER_ON_SEC

DLL_ENABLE

pse_dll_enabled < TRUE

ucCt

short_det_sec + ovid_det_sec +
Y Y option_vport_lim

ERROR_DELAY_SEC

start ted_timer_sec
alt_pwrd_sec < FALSE

ted_timer_sec_done +

power_not_available_sec * Ishort_det_sec *
lovid_det_sec * loption_vport_lim

option_detect_ted_sec

tmpdo_timer_sec_done *
Ishort_det_sec * lovid_det_sec *
Ipower_not_available_sec *
loption_vport_lim

A 4 A

POWER_DENIED_SEC

uct

\4




CLASS_EV1_LCE
ISSUE #2 do_classification
N start tice_timer

tIce_timer}one *

start tclassacs_timer
pd_autoclass < FALSE

tice_timer_done *
( (mr_pd_class_detected = 4) *
(class_num_events > 1) * (pse_avail_pwr > 3))

ISSUE #2

7

( (mr_pd_class_detected < 4) +
(class_num_events = 1) +
((mr_pd_class_detected = 4) *
(pse_avail_pwr < 3)))

Y

ISSUE #7

A

tclassacs_timer_done * autoclass_enabled *

mr_pd_class_detected # 0

CLASS_EV1_AUTO

-~

do_autoclassification

(mr_pd_class_detected = 4) *
(class_num_events > 1)

tice_timer_done *

tlce_timer_done *
((mr_pd_class_detected < 4) +
(class_num_events = 1))

-t

tice_timer_done *

(mr_pd_class_detected #
mr_pd_autoclass_detected) *
(mr_pd_autoclass_detected # 0)

)

ISSUE #3

>

MARK_EV1

do_mark
start tmel_timer

temp_var < mr_pd_class_detected

tmel_timer_done

CLASS_EV2

do_classification

-t

tcle2_timer_done * (mr_pd_class_detected=temp_var) * ((class_num_events=2) + (pse_avail_pwr<5))

start tcle2_timer

tcle2_timer_done *
(mr_pd_class_detected #
temp_var)

tcle2_timer_done *
(mr_pd_class_detected=temp_val
* class_num_events>2 *

pse_avail_pwr >4

MARK_EV2

\

do_mark
start tmel_timer

ISSUE #3

tmel_timer_done

CLASS_EV3

do_classification

ISSUE #4

/

tcle3_timer_done * (mr_pd_class_detected = temp_var) *
((mr_pd_class_detected<?2) + (class_num_events = 4) +
((mr_pd_class_detected = 2) * (pse_avail_pwr < 7)) +
((mr_pd_class_detected = 3) * (pse_avail_pwr < 8)))

tcle3_timer_done * ((mr_pd_class_detected=4) + ((mr_pd_class_detected>0) * (pse_avail_pwr=5) ))

start tcle3_timer

tcle3_timer_done * ((mr_pd_class_detected#4) * ((mr_pd_class_detected=0) + pse_avail_pwr>5) ))

MARK_EV3

do_mark
start tmel_timer

temp_var < mr_pd_class_detected

tmel_timer_done

CLASS_EV4

do_classification

tcle3_timer_done * (mr_pd_class_detected=temp_var) *
((mr_pd_class_detected>1) * (class_num_events = 5) *
(((mr_pd_class_detected = 2) * (pse_avail_pwr=7)) +

(pse_avail_pwr = 8)))

ISSUE #4

tcle3_timer_done *

; L
start tcle3_timer tcle3_timer_done *
(mr_pd_class_detected
# temp_var)
MARK_EV4
do_mark
start tmel_timer
tmel_timer_done
CLASS_EV5
do_classification >

start tcle3_timer

(mr_pd_class_detected = temp_var)

L.

MARK_EV_LAST

do_mark
start tme2_timer

tcle3_timer_done *
(mr_pd_class_detected #

temp_var)

tme2_timer_done




CLASS_EV1_LCE_PRI

do_classification_pri
start tice_timer_pri ) ) )
pd_cls_4PID_pri < FALSE tice_timer_pri_done * ( !class_4PID_mult_events_pri *

_ - _ ( (mr_pd_class_detected_pri < 4) + (class_num_events_pri=1) )+
(mr_pd_class_detected_pri = 0))

MARK_EV1_PRI

. . tice_timer_pri_done * (cls_4PID_mult_events_pri *
:jeomﬁq—avrir—pein < mr_pd_class_detected_pri (mr_pd_class_detected _pri > 0) + (mr_pd_class_detected_pri = 4) *
start tmel timer pri (class_num_events_pri > 1))

tmel_timer_pri_done

CLASS_EV2_PRI

do_classification_pri tcle2_timer_pri_done * (mr_pd_class_detected_pri # temp_var_pri)
start tcle2_timer_pri

tcle2_timer_pri_done *

(mr_pd_class_detected_pri=temp_var_pri) * tcle2_timer_pri_done * (mr_pd_class_detected_pri=temp_var_pri) *
Iclass_4PID_mult_events_pri (class_4PID_mult_events_pri + (class_num_events_pri > 2) )
* (class_num_events_pri = 2)
A4 tcle3_timer_pri_done *
MARK_EVZ_PRI (mr_pd_cl ass_detected__pri #terﬁp_Var_p r)
do_mark_pri * (mr_pd_class_detected_pri#0) *
start tmeZ_timer_pri P CLASS_EV3_PRI | ((mr_pd_class_detected_pri#3) +
- - ; ; 1 i#4
tcle3_timer_pri_done * tme1.timer_pri_done ', _classifiation_pr tempvarpn79)
(mr_pd_class_detected_pri=temp_var_pri) * start tcle3_timer_pri
((class_num_events_pri > 1) + (temp_var_pri < 4))
et
tcle3_timer_pri_done *
(mr_pd_class_detected_pri # temp_var_pri) * tcle3_timer_pri_done * (temp_var_pri = 4) *
((mr_pd_class_detected_pri=0) + (mr_pd_class_detected_pri=3) *
((mr_pd_class_detected_pri=3) * (temp_var_pri = 4) * (pse_avail_pwr_pri=5) *
((pse_avail_pwr_pri<5) + (class_num_events_pri < 4))) (class_num_events_pri=4)
; tcle3_timer_pri_done *
4PID3 PRI (mr_pd_class_detected_pri=temp_var_pri) *
— ((class_num_events_pri = 1) * (temp_var_pri = 4))
pd_cls_4PID_pri < TRUE ¢
(class_num_events_pri = 1) * MARK_EV3_PRI

(temp_var_pri = 4)
| ———

(class_num_events_pri > 1)
+ (temp_var_pri # 4)

do_mark_pri
start tmel_timer_pri

CLASS_RESET_PRI |«

do_class_reset_pri i
start tclass_reset_timer_pri

CLASS_EV4_PRI

tmel_timer_pri_done

l tclass_rst_timer_pri_done

do_classification_pri tcle3_timer_pri_done *
start tcle3_timer_pri (mr_pd_class_detected_pri # 3)
CLASS EV1 LCE_RESET PRI |
L
do_classification pri
start tlce_timer_pri

tcle3_timer_pri_done *
(mr_pd_class_detected_pri # 4) (mr_pd_class_detected_pri = 3)
* tice_timer_pri_done 4PID4_PRI

[———
(mr_pd_class_detected_pri = 4)

* tice_timer_pri_done
—mer-Pr- uet U

p MARK_EV_LAST PRI [«

pd_cls_4PID_pri < TRUE

do_mark_pri
start tme2_timer_pri

tme2_timer_pri_done



CLASS_EV1_LCE_SEC

do_classification_sec
start tlce_timer_sec .
pd_cls 4PID_sec « FALSE tice_timer_sec_done * ( Iclass_4PID_mult_events_sec *

i — ( (mr_pd_class_detected_sec < 4) + (class_num_events_sec = 1) ) +
(mr_pd_class_detected_sec = 0))

MARK_EV1_SEC -
temp_var_sec < mr_pd_class_detected_sec | tlce_timer_sec_done * (cls_4PID_mult_events_sec *
do_mark_sec (mr_pd_class_detected_sec > 0) + (mr_pd_class_detected_sec = 4) *
start tmel_timer_sec (class_num_events_sec > 1))

tmel_timer_sec_done

CLASS EV2_SEC

1 *
do_classification_sec tcle2_timer_sec_done * (mr_pd_class_detected_sec # temp_var_sec)
start tcle2_timer_sec

tcle2_timer_sec_done *

mr pd class detected sec=temp var sec) * cleZ_umer_sec_done ™ (mr_pa_class_detected_sec=temp_var_sec
(mr_pd_ X | p_var_sec) tcle2_ti d * d_cl detected i *
Iclass_4PID_mult_events_sec (class_4PID_mult_events_sec + (class_num_events_sec > 2) )
* (class_num_events_sec = 2)
y tcle3_timer_sec_done *
MARK_EV2_SEC (mr_pd_cl ass_detected_seE#emE_var__sec) *
do mark sec (mr_pd_class_detected_sec#0) *
start tmel timer sec p CLASS_EV3_SEC | ((mr_pd_class_detected_sec#3) +
— i . temp_var_sec # 4
tcle3_timer_sec_done * tmel_timer_sec_done do_classification_sec (temp_var_ 2
(mr_pd_class_detected_sec=temp_var_sec) * start tcle3_timer_sec
((class_num_events_sec > 1) + (temp_var_sec < 4))
< J
tcle3_timer_sec_done *
*
EErrlr:r_p'gd_c(l:?assss_ddeetteecéteedd_sseccf(t)?n:p_var_sec) tcle3_timer_sec_done * (temp_var_sec = 4) 1
L g g - - =2) *
((mr_pd_class_detected_sec=3) * (temp_var_sec = 4) * &nsre—pg;;ilf ZSerd ifgi%?:sec 3)
((pse_avail_pwr_sec<b5) + (class_num_events_sec < 4) (@ as_s_nurﬁ_evgnts_s ec=4)
} tcle3_timer_sec_done *
4PID3 SEC (mr_pd_class_detected_sec=temp_var_sec) *
— ((class_num_events_sec = 1) * (temp_var_sec = 4))
pd_cls 4PID_sec < TRUE l
(class_num_events_sec = 1) * MARK_EV3_SEC
temp var_sec =4)
< do_mark_sec
class_num_events_sec > 1) start tmel_timer_sec
it (temp_var_sec # 4)
CLASS _RESET_SEC [«

tmel_timer_sec_done
do_class_reset_sec i
start tclass_reset_timer_sec

CLASS_EV4 SEC

# tclass_rst_timer_sec_done

do_classification_sec tcle3_timer_sec_done *
start tcle3_timer_sec (mr_pd_class_detected_sec # 3)
CLASS EV1 LCE_RESET SEC |
L
do_classification_sec
start tice_timer_sec
tcle3_timer_sec_done *
mr | 4 _ _Sec_
ﬁtl Cgp(tjﬁ? eerlszg(gegeocr:zd_sec #4) (mr_pd_class_detected_sec = 3)
4PID4_SEC
—————

(mr_pd_class_detected_sec = 4) pd_cls_4PID_sec < TRUE
* tlce_timer_sec_done

¢—‘ uct W

p MARK_EV_LAST SEC |

do_mark_sec
start tme2_timer_sec

tme2_timer_sec_done



¢ I(pwr_app_pri + pwr_app_sec)

IDLE_MPS

stop tmpdo_timer

pwr_app_pri + pwr_app_sec

MONITOR_MPS o E—

stop tmpdo_timer

Imr_mps_valid

DETECT_MPS

start tmpdo_timer

mr_mps_valid




¢ lpwr_app_pri

IDLE_MPS_PRI

stop tmpdo_timer_pri

pwr_app_pri

MONITOR_MPS_PRI

stop tmpdo_timer_pri

Imr_mps_valid_pri

DETECT_MPS_PRI

start tmpdo_timer_pri

mr_mps_valid_pri

¢ Ipwr_app_sec

IDLE_MPS_SEC

stop tmpdo_timer_sec

pwr_app_sec

MONITOR_MPS_SEC

stop tmpdo_timer_sec

Imr_mps_valid_sec

DETECT_MPS_SEC

start tmpdo_timer_sec

mr_mps_valid_sec



lalt_pwrd_pri

IDLE_INRUSH_PRI

ll—

stop tinrush_timer_pri

alt_pwrd_pri *
lpwr_app_pri

MONITOR_INRUSH_PRI

start tinrush_timer_pri

lalt_pwrd_sec

IDLE_INRUSH_SEC

-

stop tinrush_timer_sec

alt_pwrd_sec *
Ipwr_app_sec

MONITOR_INRUSH_SEC

start tinrush_timer_sec

ISSUE #8
(remove arc)

ISSUE #8
(remove arc)
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